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PART - 11 : SCHOLASTIC APTITUDE TEST
(For Student of Class VI
Time : 90 Minutes Max. Marks : 90

INSTRUCTIONS TO CANDIDATES
Read the following instructions carefully before you open

the question booklet.

1. Answers are to be given on the same OMR answer
sheet provided for Part -1

3. There are 90 questions in this test. All are

compulsory.

3.  The question numbers 91 to 110 belong o
Mathematics, 111 to 145 pertain to Science and 146
to 180 are on Social Science subjects.

4. Choose the correct answer from the options given
for each question and darken the corresponding
circle with blue / black ball point pen in the OMR
answer shect.

Since the time allotted for this question paper is very
limited you should make the best use of it by not
spending too much time on any one question.

th

6.  If you do not know the answer to any question, do
not waste time on it and pass on to the next one. If
time permits, you can come back to the questions,
which you have left in the first instance and attempt
them.

7. Rough work can be done anywhere in the question
booklet but not in the OMR sheet / loose paper.

8. Each correct answer will be awarded one Mark.

9... Please return the OMR Answer sheet only to the
invigilator after the test. You can retain the question
Booklets.

10. English version of the question paper will be
considered as final in case of any dispute ar ising out
of variation in translated version.

Il. Quote your seven digit Roll number without fail for
any future correspondence.

PLEASE TURN OVER THE PAGE AN
ANSWERING S

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com
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seflan /| MATHEMATICS

9N (-2.56x4.2)' = .
10 21
3) 10.752 4) -10.752
92. . . 5
TS U@L~ mb sl gamsd 3-3
faszl_é@ﬁ]. .
1)= 1
5 5
93. 2 N (43 o532
(13 % 32) - (8 +5) = o
32 23
362 4) 623
23 32
94.  /0.0000313 661 LAY SreHTS.
19 0.0056 2) 0.056
3)5.6 4) 56
95. 0,2, 6, 12, 20, 30, -—-afiHu’L sTenTsnemTe
SHITEHT 5.
1) 40 2) 48
3) 42 4) 46
96. &5 HTHSILD UEHIIL @6&@}&3@_&5%&@1
QarLiupm —————— JjeTejser CHemel.
13 2)4
3)2 4) 5
97. (P60 5 us sTet Gerflsam
@ flsmsowmer g —————=
1)3 2)5
3)2 4)7
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96.

7.

W T T T NipseCoty

(-2.50 x 4.2)" = cemeeeee.

nao
3) 10.752

2) 1
4) -10.752

Which number should be added to

5

= to get —?
t‘:4 30
-

3

5
3 -

)4

(13 % 33)~ (13+59) =

1) 4%
23

3 22
23

Find the value of ¥0.00003136

1) 0.0056
3)5.6

0,2, 6,12, 20, 30,
missing number.
1) 40
3) 42

-4

-5
4)—4—

>

23

2)45

e 2
32

2) 0.056
4) 56

........ . Find the

2) 48
4) 46

How many independent

measurements are needed to

construct a quadrilateral?

1)3
3)2

2)4
4)5

Find the median of the first 5 prime

numbers
1)3
3)2

2) 5
4)7
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1M 2x+3 eTerflsh, oy eir
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1) 3x -1

3) 14x + 10

2) Tx+5
4) 7x + 10

a—@leir eLsiTIRed sy LkiEhL 6T m-@sir
& (D5 6016t @\rL_rhig —————

1) (2a +m) 2) z+(§ a + m)
diatm H2(a+m)

IOESHSS! uhLD esiTm (PSSl
& (DGev 39. 9hlsd Elyeioremeugy

112
3) 13

2) 11
4) 14

Z=10 steoflsv, Z° — 3(Z-10) st

1) 10 2) 7
3)3 4) 1000

eIt eTetTewflsr eLpsiTafley 62(Th LirsiehletT
mmsTeled e Lndlsir Ll (5 LBIS
20 stenflsh, ojeuGlaistsr —————

1) 420 2) 240

3) 1680 4) 560

}

33 % Yo @61 LD AUllg QD ————=

1)0.3 2)0.36
3) 0.03 4) 33.3
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99,

100.
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The point of intersection of x-axis and
Y-2Xi$ i§ -=meeen
1) Abscissa

3) Origin

2) Ordinate
4) None of these

If the sides of a rectangle are 5x+2
and 2x+3 then its perimeter is --=---
1) 3x -1 ' 2) 7x+5

3)14x + 10 4) 7x + 10

The algebraic expression of double
the sum of one third of a and m is -----

Di@atm)  2)2+(ja+m)
Hja+m 4)2(§a+m)

If the sum of three consecutive
integers is 39, then the second number

)12 2) 11
3)13 4) 14

If Z=10, then the value of
Z° — 3(Z-10) is —---—-

1) 10 2y7
3)3 4) 1000

If one-third of one-fourth of one-
seventh of a number is 20, then the
number is ------
1) 420

3) 1680

2) 240
4) 560

The decimal form of 33% %% i§ —==n=

1)0.3 2) 0.36
3) 0.03 4)333
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106. @@ GHnIC L SiFamsmg) 8% auliy
AHGH ~~—— oy sr@esfisd eystrmy
LOL_MEI S (0.

s 2) 25
310 4) 20
107. SpsmrLauntlss A—Gstr @y ———---
' 4A
X A
. 27A
1)4 2)5
3)6 41

108. ]

j'4 +.\,/21 +vV 5+ 4121 = e
N

i 2)2
3)3 4) 4
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105.
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107.

108.

109.

The tax in a rest:uurant is 1.5% of the
total bill. A family of 6 members paid
a bill of Rs.750. What is the tax for
their bill amount?
1) Rs.112.5

3) Rs.11.25

2) Rs.761,25
4) Rs.812.5

A sum of money triples ilscll‘;il‘iﬁ%
per annum over a certain time. Find
the number of years.

s 2) 25

3) 10 4) 20

The value of A in the following is -—----
4 A :

XA
27A
1)4 2)5
3)6 41
Wil e -
44+ 121 4+ V5 4 V121 = —eem
\ N
D1 2)2
3)3 4)4

How many triangles are there in this

figure?

Vv

2)20
4) 28

1)16
3) 24

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com
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The tax in a restaurant is 1.5% of the
total bill. A fumily of 6 members paid
a bill of Rs.750. What is the tax for
their bill amount?

1) Rs.112.5 2) Rs.761.25

3) Rs.11.25 4) Rs.812.5

A sum of money triples itscif at 8%
per annum over a certain time. Find
the number of years.

1S 2)25

3) 10 4) 20

The value of A in the following is ----—--
4A ’

XA

27A
1)4 2)5
3)6 4) 1

f B
! I P -
44 /21 + V5 + V121 = —nn
N N
1)1 252
3)3 4) 4

How many triangles are there in this

figure?
/\

1) 16 2) 20
3) 24 4)28
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110. 2%? x 3%} = coeeen

110. 2%%x 3% = moeem

64
o 3 64 3
) 81 2) 2 1) B 2) 5
2
3)= 9L 2 81
)3 )& 33 4) =
aieflwes / SCIENCE
111. 86y Qar@ssiu’ L L SHh dflu 111. If the side of each small cube is 2em in

SETEFFGITLD epstriieiT U 2 Qs sranfled
Gluflw sead Fgrsdler LimLsar

pd /
+ 2Qsad //
.: +
%
+ ¥
1) 8 Qlg.f’ 2) 64 Q515°
3) 192 Qa1 4) 32 Q&

112. @@ safl cusme LSS oergellenr  112.

2150606 GEHTLD sarsS UGS g, fery
geufl emgsilsr fHlenmenil siHlaf&a ‘qugJ
26T edl60T HerdFlen 2jmava | GHTLD
ST &EHLIUHIED L. SHGUTmSIL
2y6meveGELD

1) sismevey S wrmieBme
2) gimeve] GHID ol feEngl
3) oyemeve] GEILD Gondng .
4) oymsusy GHID (PSR AL

sty @Gsondng-

113 O Qi eoeilssflsor Sumrsiramfl. isTey 113.

2) -459.4'F

1)0°F
= 4) +449.4°F

3) -449.4°F

length, find the total volume of the cube
in the given figure.

L%

« 2cm .

|

< 2cm
- 2cm =

+ 2cm -+
2) 64cm’
4) 32cm’

1)8 cm’
3) 192 em’

Time period is measured by using a

simple pendulum. Time period is

measured once again by increasing the

mass of the bob with the same length of

the pendulum. What is the new time

period of the pendulum?

1) Time period will not change

2) Time period will increase

3) Time period will decrease

4) Initially the time period will increase
and then it will decrease.

Convert 0 Kelvin to Fahrenheit.
1) 0°F 2) -459.4°F
3) -449.4°F 4) +449.4°F

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com -
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S Cosious augan Qem’is K
Brouiu’ Qerergy. 10 Qg5 L5 Hlsv
SIS YWHSID (g6 wHy 9.8 5/s9?)
1) 98 Nm"™ 2) 9800 Nm™
3) 980 Nm? 4)9.8 Nm™
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Force may change
i) the state of on object

i) the speed of an ohject
i) the shape of un object
iv) the muass of an object
Find the correct statements
in the above
i iiand v
3) ii, iii and iv

2) i, ii and iii
4) 1, fii and iv

A rectangular storage tank is filled with
water. The value of g is 9.8m/s%. What is
the pressure at a depth of 10 em?

1)98 N\m* 2) 9800 Nm™

3) 980 Nm™ 4)9.8 Nm™

Which is not related to electro magnet

1) An electro magnet attracts a piece of
iron.

2) Nichrome alloy is used in
electromagnet

3) Electric bell has an electromagnet.

4) Current passing through a metal
produce magnetic field around it.

A neutral object can be charged even
without touching the neutral body with
a charged body. This type of charging
is called

1) Charging by friction

2) Charging by conduction

3) Charging by induction

4) Charging by magnet

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com
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When two cells, two bulbs and switch
are all connected in series, the electric
circuit can be represented by

1)

3

&6
[

A student goes for a walk in the park
near her house. She starts from point
‘A’ walks in a rectangular path of
length 7m and breadth 3m. She returns
to the same point ‘A’. What is her

+)

displacement?

A 4-----/M - cn-- . > .
dm - )
v

1) 10m 2) 20m

3H0m 4)21 m

What does _;_11{;, odometer of an

automobile measure?

x 2) Distance
oy 4) Acceleration

1) Speed
3) Velocity
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/
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4) S|LipE
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3) Guodled D TEss

4) feuln) (plsmL_Camaiv Fmm

A fé s+ Cemguin—snu—smiuGe
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, salt + __2

The image formed by the plane mirror
of the word “EXAMINATION®

1) IXAMIMATION

2) IXVYWINVLION

3) MOITANIMAXE
4) EXAMINATION

Vegetable Briyvani, when cooked, its

aroma spreads nearby surrounding.

This i1s due to

1) The free particles or molecules of gas

2) The high speed of the gaseous
particles or molecules.

3) Tne large space between them.

4) All the above.

On varying the -——-- , the matter will
change from one state to another.

1) pressure 2) volume

3) temperature 4) density

Which is used as a stain remover in
clothing?

1) Sodium Hydroxide

2) Magnesium Hydroxide

3) Calcium Hydroxide

4) Aluminium Hydroxide

Find the odd one out:-

1) Litmus

2) Turmeric powder

3) Methyl Orange

4) Red cabbage juice

Citric acid + Sodium bicarbunate —»
-- water {
1) Carbon monoxide

2) Carbon di oxide

3) Sulphur di oxide

4) Nitric oxide

i i
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FIfITeTT S HMISEDET AT LTS 131.

i) séiTLfstToumis GENTesT Croi Ganmtg s
(@it 60T 6T

ii) st LAsETEUMLIS sdliesT Chiblsgamio
QuDmEmeY.

iif) srimilaiTeumiis sdliesT Hlenm LoMLD

Bwdbs JHHmgimLL &l
BT TS S FTEDEL. ;
iv) arg,]ﬁlﬁ]s&rmnﬁié: &Qﬁaisi'r. emr_shsurruj
aEi s sTETMILD DS SILBERDG).
‘1) i & ii 2) iii & iv
3)i&iv 4)i & iii

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com
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Which alcohol is allowed recently by
the central government, to be mixed
with petrol and used.

1) Propanol 2) Butanol

3) Ethanol d) Methanol

Find the zero valent element from the

following. 4
1) Zinc 2) Calcium

3) Helium 4) Sodium

Both plants and animals are made from
a few elements. Match the elements
with their percentage.

Elements Percentage
a)  Oxygen i) 18%
by Carbon i) 10%
¢) Nitrogen iit) 65%
d) Hydrogen iv) 3%
Pa=iii b-i c-iv d-ii
d)a—iii b-iv c—ii d-i
3a-ii b-iii c—-iv d-i
dJa—ii b-iv c—i d-ii

Atoms which are extremely small in
size are expressed in terms of ---——--

1) 107m 2) 10" m

3) 10" 'm 4) 10" m

Choose the correct statements,
i) The cathode rays travelin
straight lines.
ii) The cathode rays are positively
charged particles.
ii1) Cathode rays are made up of small
particles that have mass and kinetic
energy.
iv) The cathode rays are otherwise
called canal rays.
1)i&ii 2)iii & iv
Ni&kiv 4) i & iii

=
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132.

133.

134,

135.

137.

138.

BG podigdr o whnd Gren@
ANTNET YemisseT Caifg B erery
CatiogSeir Benm efllsid sreirsor ?
1y1:2 2)8:1

3)1:8 4)2:1

———= s SEUUTETTSMD, 2 e
QuTmeTTSO LD Lo( & G l6uLn6n6TT & erfley
LwsarL(RBIm .

7 S omeiv

3) &yt &56smd Gmeny

2) Aslunr
4) e seoTiD

SeumNesr @lsnsmareaniug CaihtsHiasab,
) Ggafily B urgeand —&8 5

2) smeueUMLL LITFETD  — SUTEDLp

3) 656 B ungana — GEed

4) Glam_ () B urearn — Sor e

B Gaemeuudlsir Ijtg LusmLufley
SHITUTTRISHENET sUHSLILEB G ST wimk ?

1) Ui 2) sumn il

3) Laredlstr 4) GlasiorL 60

san(Hiless  SamyGardiym
&@all eI SITEUTHRIGEHEE 2 6wTIieY
2 swor(H sreaTugy Qe aukss).
1) @uflsiom igsd

,2) &Gymeust sSlsirGeorieny
3) J.C.Gumsiv
4) elGUTSINTL 19 670

geofhurias aflsolm B8 Cameuupm
LG Hsow Bé L Hapafsr Cuwr
domsaen

, 2) srmiles gTOMISHR
3) gmersnL Glaiigs
4) s g SS60

euITeTaT g6 Lodmith sunmteaflsvssir
aSlmigl swrflésiupidis mer.
1) smeGesmGumgwin Glumg.

2) wnierSle8lum

3) LGl s

4) Gl flears
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133.

134,

136.

137.

138.

What is the ratio of mass of a water
compound, which is made up of one
oxygen atom and two hydrogen atoms?
ni:2 2)8:1

3)1:8 4)2:1

------ is used as antiseptic and absorbent
bandage in the hospital,

1) Peatmoss 2) Riccia

3) Anthoceros 4) Sphagnurii

Choose the incorrect pair.

1) Sprinkler irrigation - Brinjal
2) Furrew irrigation — Banana
3) Basin irrigation - Paddy

4) Drip irrigation - Grapes

Who classified the plants on the basis of
their water requirement?

1) Fleming b) Warming
3) Darwin d) Mendal
------ _invented crescograph which

showed that plants have feelings.
1) Aristotle

2) Carolous Linneaus

3) J.C.Bose

4) Hippocrates

The process by which the chaff is
separated from the whole grain is
called

1) Cutting

2) Winnowing

3) Harvesting

4) Threshing

———————— are used in the manufacturing of

paints and varnishes.
i) Lycopodium powder
2) Marselia

3) Dryopteries

4) Resins
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140.

141.

142.

143.

1) AgifresHer Gudpib
2) GlawigHer Cudiumi

3) samsmrwg St CLosbumid
4) epsmsrullsar GLosbLymid

Spenlp GurGUTCrerSlsiy eTetrLig)

1) sTuubLssT 2 gBuine @ ms s

2) STRIDLSET 2 L 1D G563 6oL
Qe meaim_sre @)@t

3) smasst 2 midurs @ms @1

4) pevsesT augiellphs GBSt

smeul_L Lflelr &ff @il ofaons 2 srang
) Cufame

2) 2_(msmen &l

3) (pewersiigul LUTIMIIENS S 6T
4) &y

‘Giduralsr  upspesafigstT ey
SyeoLpdsULGHILGUIT

1) aup=omusir S50 el

2) geltn )65

3) (&g 360

4) (Nsrosuiomis (Neroaumsn

LSUILE SSISEO6HT Grr& oL

1) 2_ewreyls QUITHET &6 afssrmeuem S s
Gopssed

2) o_swoTayL] Qursirasflssr EMLD, &ene
LommiLh @en” LU QUIT(m6IT ST
{@wsdLImenT Hlemeouf GGl
DUSHEHED- |

3) Lmgstefum O smsurrsr-ﬁim
susiTElemiLl g{ﬁa&rﬂggfu.

1) i w @G &, i oy iil S

2 i womayd i &, il soum)

3) i, ii, iii eLPEITMILD aifl

4y i, i, i epemmmuo S80I

140.

141.

142.

143.

Supra renal glands are located

1) on the top of kidneys
2) on the top of heart

3) on the top of pancreas
4) on the top of brain

Osteoporosis is a condition in which

1) the bones become stronger
2) the bones become brittle
3) muscles become stronger
4) muscles become weaker

Vitamin C is abundantly found in

1) Dates

2) Potato

3) Bean sprouts
4) Carrot

Who is called “The Bird man of
India™?

1) Humayun Abdul Ali

2) Salim Al

3) Mohammed Ali

4) Biswamoy Biswas

The purpose of food preservation is to

i) prevent food from spoilage

ii) retain the colour, taste and nutritive
value of the food.

iii) enhance the growth of bacteria and
virus

1) only (i) is correct both ii & iii are
wrong.

2) Both i and ii are correct iii is wrong

3) i, ii & 1ii are correct

4) i, ii & iii are wrong

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com
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144, Gurmgs

a)  UTed b i)y 32

b) Hdmess i) 12
L6t

¢) Glau@i iii) 20
UM & 6T

d) SsraLsaumid iv) 8
L& 6

Da-iii b-i ec—ii d-iv
2a-i  b-iii c—iv d-ii
3a-iii b-i c-iv d-ii
4ya-ii  b-iii c—iv d-i

145. sfls o emeoa gds el
2 L GiamsuorLmsd syhLit Grmis
1) 2 L &b ugpLoedr 2) &L bumTsmew
3) sem&susdl 4) ¢prus Lmd)

145.

Match the following:

a)  Milk teeth i) 32

b) Permanent ii) 12
teeth

¢) Incisors iti) 20

d) Molars iv) 8

I)a-iii b-i c¢-ii d-iv
Da-i b-iii ¢c—iv d-ii
J)a—iti b-i c-iv d-ii
4)a—-ii b-iii c-iv d-i

Fast food, if taken in large quantities
on a regular basis can cause

1) obesity 2) short sight

3) muscular pain  4) memory loss

geps oiflefliwes / SOCIAL SCIENCE

146. QuTEiETEm5S CoHTHEES0ESMLD.
1).(Wp&SavaurT 2 sulid
2) ssurr Gamusled
3) BiraSevsuyt Gamuflsd
4) HsLisuGsarervsunt GemuTle

147. Qur@mEss.

a)  S(mLoUmeT i) Fussihs
eyl
b) @rreCursd i) hd uflng

) UNsHelgrg i) UsuGemageud

TGaT !
d) eSEisTey iv) Brepev
Camuiled LEISHEMES

5§5m

Da-i b-ii ec—iv d-ii
2)a-ii b-iii e—iv d-i
3)a-iv b-i c-ii d-il
fa—i b-iv c—ii d-iii

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com ... .

146.

147.

Find the odd one out.

1) Muktheeswara Temple

2) Aivar Koil

3) Brahadeeswara Temple

4) Thirubhuvaneswara Temple

Match the following :

a) Dharmapala i)  Sanskrit

College
b) Rajabhoja ii)) Chand Bardai
¢) Prithiviraj ili) Bhubaneshwar
Raso
d) Linga Raja iv) Nalanda
Temple University

1)a—-1 b-ii c-iv d-iii
2)a—ii b-iii c—iv d-i
3)a—iv b-i c—ii d-ii
4)a-i b-iv c-ii d-ii
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148, Glaoy T5TeTaT LY gsomemu 148, Copper currency system was introduced
Silpaiu® s Ewat ser by the -----==-=-
) uryEsiser 2) oGqikuressr 1) Persians 2) Arabs
3) sImSHwi s 4) G606 &6 3) Turks 4) Sultans

Which temple was constructed during

149, Smoyanr  Goaumur sl dé  srugda 149,
the reign of Krishna Deva Raya?

SULUULL Gamuiles st ?

B Gemoprat Gemuilsd 1) Somnath Temple
2) menreprgi Gamuils 2) Kailasanatha Temple
3) el vambl Gasmuilsy 3) Vittalaswami Temple
4) amaqr grogmil Gamfsn 4) Hazara Ramaswami Temple
150, Qur@sss : . 150. Match the following :
a)  gerdlgren i) Jdasr a)  Tulsidas i) Bijaka
b) uraflésarsst i) @omoafly b) Manikavasagar it} Ramcharit
LOITEOT 61V LA RS
¢) @rmorepeot iii) HFoumssd - ¢) Ramanuja jiii) Tiruvasagam
d) s iv) emausTIIaND d) Kabir iv) Vaishnavism
Da-iii  b-il e—iv By Da—iii b-ii c—iv d-i
2)ya—iv  b-—i c~ii d-ii ) . .
s : : 2)a—iv b-i c—ii d-iii
3a—ii b-iii e—-iv d-i 3 o ;
fNa—i b-iii c—iv =i Jya—ii b-ii ec-iv d-i
Ha=i Ha-i boiii  c—iv d—ii

151, ‘e arfll’ 6T6aT(D)! wsaemmed 151, Who was known as ‘Meeran Shabib’?

Lestpltu L gurt wimit ? 1) The sufi saints
1) (ol @uusss gimedesr 2) Saint Mirabai
2) ufipm L 3) Saint Nagore Andavar
3) miran it gy eHrL euri 4) Maharastra saints
4) g gimeflesT
152. Cumisaddu uwenfl areuGoTLsmoremes {52, Which Indian king gave warm welcome |
aurGsubgy 2 usfiés Qlbdlu weramt ~ to portuguese sailor Vasco-Da-Gama? |
1) @rmoshElr Co e 1) Ramachandra deva
2) dIbiseorm : Pk 2) Singhana
3) saunmiudiT 3) Jahangir
4) emoflesr ; 4) Zamorin
153 srsuwsrsiar soasind dnd ‘ 153 The Chief architect of Tajmahal was -
1) 2 6v5TS Elagm 2) agmemameI 1) Ustad Isa 2) Shah Jahan
3) o6 LTFeD 4) geiTGE s 3) Abul Fazal 4) Tansen

Kindly Send Me Your Key Answer to.Our email id - Padasalai.net@gmail.com
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Sumyea Geumsiog riygfy SOSHSSTAR  gTreT
a6l Bysergene Sius i gy et ()

1) &.9.1780 2) &.9.1781

3) #.19.1785 4) £.19.1786

ST oy (g
SOTIWGDS Auiflgg @I th ———

1) desm 2) mamsyruns,
3) &ltisom 4) 5608 G

SY&sToTL_umiley .
CaitQsHésnn.
1) Qimear Cam_ e, unsaus,
Lrmenr 6m5 umyde Qumflis Gmf
Guwr g .

2) QusuTEsy, @rmomusterid LMD
USTUTTBSMS UMTes QomHufle
Glomfl Quwr &g

3) gusnGestr, g&bufler gsmaismu
Jnsfss Gama epmef LYY

4) euiomusir, @MTgSsmer ersirm
Csmpms Ghnsms st iy e,

1) i, ii

3) iii, iv

. &iflwmesr & MHsom

Hemsowrer Hevsufl L Ssms snysiamsSe
5L (et (el YyBlpaliuBssul tg S
1) suruamemio 2) GlFeransor

3) Q_cvedl 4) RmSrTu s

@rreusSriest srusds Caruld slipl &
sl dplurer  dTOSHS  snlLns
laLpeug). _

) Hlevsumyr Gamullsh

2) st_maeny Commufled

3) oy ulrib Geder SpeolLith

4) 61681 LigttT LT (560856 Eebmusley

‘B smdledl’ penmenw

S pHILB S Ewisur wr ?

) QU 2) emLomi,em
3) mamnrudT '4) ewrsammer

154.

ST 155,

156.

157.

3) Delhi

158.

The Caleutta Madarasa w
Warren Hastings in ceeeeeee
1) 1780 A.D 2) 1781 A.D
3) 1785 A.D 4) 1786 A.D

as founded by

Lord Cornwallis ¢reated Commissioner
of Police office at ~—eecemee.

1) Bihar 2) Hyderabad

3) Simla 4) Calcutta

Which among the following statements

are true?

1) Raja Todar Mall translated
Bhagavata Purana into
Persian language.

2) Abul Fazal translated Ramayana and
Mahabaratha into persian language.

3) Tansen was a great musician in
Akbar’s court.

4) Humayun constructed a building
known as Ibadat Khana.

1) i, ii

3) i, iv

4) i, iii

Lord Cornwallis introduced Permanent
Settlement Act initially at

1) Bengal -2) Chennai

.4) Hvderabad

The fine specimen of temple architecture

during Rajputs period is

1) Dilwara temple -

2) Shore temple

3) Thousand pillar:temple

4) Elephanta cave temple :
E;

Who introduced tlfe ‘Chain of Justice'?

1) Akbar 2) Humayun

3) Jahangir 4) Shah Jahan

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com
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160.

161.

162.

163.
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Qegiogrefiedr sesumm Smubgsrar Gt
1) SyorGsm- 2) gD
3) Qsvebl 8y gy

yofullssr  GuGamiges WeslGufiuaralnG
Qeni@sa maiey goubeass @6unmg
SienpSHGOTLD.

1) Guosh susmemsy

2) &1 aueneTey

3) enfiGrmllzsfle pemeay

4) BWITES HETa)

‘flor’ ey sLolp Cuban® @amore
DL TTED6L

1) AsllGam Lhmuid Loredilieerd

2) el am wmud Cuuseafdlun

3) eSS WHLD LM ThIg6 &

4) fef\ser wnmth GuossL el

usTar  @srmy e @mis  erfiusme
saemrU LD G Lh

1) oS nGeet
2) gymewrrEge LTCsaELD
3) SyfbgLomer
4) g AfiGeT
QUITHSSIS:
a) ustd i) UGrels
b) LERSD i) uSE
QL EISL S
) M58 iii)  @5CsrGaTadum
d) efwrus iv) & e0EGresim
AL
Ha-iv b—iii c—ii d-i
2)a—iv b-iii e-i d-ii
3)a—ii b—iv ec-i d-ii
4)a=i b-Iv c—iii d-ii
uwieSlsir aHT ===~ G-
B &L CoonmL UGS
2) QeudBi-Lo o
3) 2 wif Bi(PHS LTI
4) g@m@gjg LOGUOTL_6ULD

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com
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Shershah Mausoleum is located at -—---
1) Amarkot 2) Sasaram
3) Delhi 4) Agra

Large scale vertical movements of the .
earth’s crust are called ----- movements.

1) Anticlines

2) Synclines

3) Epirogenic

4) Orogenic

The Oceanic crust ‘SIMA’ is made up of |
1) Silica and Molybdenum :
2) Silica and Magnesium
3) Silica and Manganese
4) Silica and Magdalium

The extinet volcanoes of Panaka Hills
are found at !
1) Andhra Pradesh

2) Arunachal Pradesh
3) Andaman

4) Africa

Match the following :

a) Bush Fire i) Brazil |
b) Famine i) Pacific Ocean | |
¢) Forest fire iii) Indonesia
d) Trade iv) Australia
winds !
)a—iv b-iii c¢—ii d-i i
2ya—iv . b-iii e-i d-ii | 1
3Ja—ii b-iv e-i d-ii
4)a—i b-iv c—iii d~ii |

The eye of a cyclone is a ~~------
1) Coastal area 1
2) Vacuum area |
3) High Pressure area

4) Low pressure area

N __._.___.Aﬂ
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166.

167.

168.

169.

170.

171

172.

Y73,

A,

@55]9“&5166 IiHs sumu Crifey LeTLsoh
L '-76‘5‘_7” o 2) e

3) SybSLomser 4) sllprT

SHEUSET  WONKD  mereTGsT  @Hmifld

ClaraTEmeug) Olansrar sréafldme
1) stifleney GClang iy

2) Liwied

3) fHsu&adlay

2) BosGéen

Caagrat flsGH @nig srariu@ang).
1) Qgeir &S GuEmrhisL s

2) su udSl& GugpisL

3) oyedrL g & GUmHHISL 6

4) o’ sunesiigds CUEBRIGL 6

o ufifl eTNGILITE6IT 6TEHEUNS
SrouySHilmEg) 2 GarEng ?
1) Caullemsn, SmiLl :

2) up s, ZEuuT60

3) &(HLL, %mm“ras@';

4) Qmed, Cangento

spsrfl q@w gesrento Glament BEL.
1) g,saqm 2) GESHSLD
3) geuGlusILTED 4) oL a&Ir

Q@mfhuT Slsm LS
(P60 sTAGUT(HSIT

1) G’ GeSluwsis

2) B&8T sTeTOlTTIL

_3) flméel

4) @uirhens srfiemy

@lemeu o Consnny  seflo QUMGEDILIE

FIHSSTED '
1) Qay 2) eneunin .

3) LTSI g GLod saTemi_L
QgmLikgl 2 (eSS G&nmq@&@m Lo6zaT
1) siflasd Loesr 49 Qg LDLosTaT

3) GremeT LOGTT 4) 6U6TITL.6D LD6TOT
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169.

170.

171.

172.

173.

3) Andaman

npsecom™ : %

High Damage Risk Zone in India is
1) Bihar 2) Punjab
4) Tamil Nadu

When the doors and windows become
tightened, it is a warning signal of

1) Volcanic Eruptions
2) Cyclones

3) Landslides

4) Earth Quakes ;
The Challenger Deep is a Trench
found in -—----

1) South Pacific Ocean

2) North Pacific Ocean

3) Antarctic Ocean

4) Atlantic Ocean

From which one of the following crops,
bio fuels are produced?

1) Tea and coffee

2) Cotton and Jute

3) Sugarcane and Jetropha

4) Paddy and wheat

The mineral which allows light to pass
through is
1) Tin

3) Asbestos

2) Sulphur
4) Mica

The first fuel which caused the
Industrial Revolution is

1) Petroleum

2) Crude oil

3) Coal
4) Natural Gas

This is a non-metallic mineral

1) Copper 2) Dmmond
3) Bauxite 4) Magnetite |

The soil which replenishes
continuously is
1) Black soil

3) Sandy Soil

2) Red soil
4) Alluvial Soil
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w6t Gafiiig 2 mmuwd Geutublamey 174.
1)s’C
2)6' C
3)4°C
4)8'C
QUTEsTS Gmemrmus Coitos@samn. 175,
1) BHEL - Smsd
2) SAIL - Casuth
3) TAMIN - &) ST S LTLD
4) TISCO - spmoGeg LT
G eSS el seall o feowuflsr  176.
@aseﬁlu_rg,g.jsug,smg_, ggﬁjeﬁ(ﬂmmﬁ
srusHtatu st ssmuusl THSSIMTEHS
Sigsmer  QupISHETS SymBuUTGUCL
&EEUEUIT
1) pregmym Glomeearymi
2) L&LIT s &l(msipeuersir
3) Carume S(peiaser o
8y atiyiosssfin umy S
——— ErdHuraier IisnNS @enemoriiy  177.
QumflumEio _
1) aoitS )by
3) sLsVABHSD 4) oyl
B PEM Lp6iT C:%Lhums&mfﬁ Camanisr e gail 178,
6T 60T
1) 100 2) 101
3) 103 41"108
179.

Codlu wefl o MEnLossT Dy ENETTILS El6i
HHGEUTEDHILI £ BB
)b 5gGmg,g,u LImeD

2 &IS58
3; ﬁgﬂg ufgsm,n Ga. @ymosm

4) £ M.urg Lo el

WwWw. I'rb Thpsc.Com

The soil gets cold and condensed when
the temperature falls below

1)5'C

2)6" C

3)4°C

4) 8'C

Choose the incorrect pair:

1) BHEL - Trichy

2) SAIL - Salem

3) TAMIN - Tiruvananthapuram |
4) TISCO - Jamshedpur

Name the leader who demanded the'_
Right to Education for Indian Children
in the Imperial Legislative Assembly.

1) Rajaram Mohan Roy
2) Dr. Radhakrishnan 1;
3) Gopala Krishna Gokhale !
4) Subramaniya Bharathiyar

—eee—ee— has been declared as an official
link language.
1) Hindi

3) Sanskrit

2) Tamil

4) English

The Helpline number of Ambulance |
service in Tamilnadu is ;
1) 100 2) 101 ;
3) 103 4) 108
i
Who is the chairperson of the Nfltlonai |
Human Rights Commission at present? |
1) Shri Satyendra Paul .
2) Shri.Justice H.L.Dattu j
3) Justice Dr.K.Ramaswamy §
4) Justice Ms.M.Fathima Beevi ‘

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com
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180. Gummsgis: 180. Match the following ;
a) lg&wour 10 i) onrdand a) 10" i)  UNOday
December
b) SGCLIUT24 i) e s wese by 24" i) World
Qarens October Population
&lsarid Day
¢) semeu 1 iii) 2w c) 1™ July ili) World
i Literacy Day
&7 ¥y Day
ﬁﬁig’ﬂ & a 8" iv) Human
& Cabiufiot s ) wefls September Rights Day
2 _flemasger
glewrto
Da-ii b-iv c-i d-iii Da-ii b-iv c-i d-iii
.2)a—iv b-iii c¢—-i d-ii 2)a—iv b—fii c-i d—E!
3)a—-iv b-i c—iii d-ii J)a-iv b-i c—iii d-ii
4ya—-iv b-—i c—il d-—iii

4)a—-iv b-i c—ii d—iii
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